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QUESTION 1

Which three VM objects are stored on a vSAN datastore? (Choose three.) 

A. Memory objects 

B. VMDK files 

C. ISO files 

D. VMware tools 

E. Host profiles 

F. VM Home Namespace 

Correct Answer: BDF 

 

QUESTION 2

Match the VMware NSX solution component with the corresponding plane (layer): 

Select and Place: 

Correct Answer: 
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Reference: http://www.vmwareminds.com/2017/07/06/what-are-the-nsx-components/ 

 

QUESTION 3

A customer would like to implement a holistic monitoring solution in its environment. What VMware product would meet
this particular requirement? 

A. VMware vRealize Operations Manager 

B. VMware vRealize Network Insight 

C. VMware vRealize Log Insight 

D. VMware vRealize Automation 

Correct Answer: A 

 

QUESTION 4

Which component in VMware NSX provides L2 bridging from the logical networking space VXLAN to the physical
space? 

A. NSX virtual switch 

B. Logical Router control VM 

C. Logical router 

D. NSX Edge virtual appliance 

Correct Answer: C 
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The logical routers can provide L2 bridging from the logical networking space (VXLAN) to the physical network (VLAN).
Reference: https://docs.vmware.com/en/VMware-NSX-for-vSphere/6.3/nsx_63_admin.pdf 

 

QUESTION 5

A customer requires a robust identity management solution to ensure that the right employees are using the right cloud-
based applications, and to ensure that the licenses are utilized in correct way. 

Which VMware solution will meet this customer requirement? 

A. vRealize Operations Manager 

B. Workspace One 

C. NSX 

D. vRealize Business 

Correct Answer: B 
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